NEAVTTHEREER - g ERkE

(EfI50HE)

A4 (BAT 2 TEU * %)
Tt A& 3t i H i N

- A 4 I 4 | 18 % [sir CIE | % [ ek
=) Bt 2,731, 231 97.4 & Bt 1,465, 718 97.9 =) Bt 1,265,514 97.0
1 |H 956,048  96. 5| 543,157  96. 4| 412,891  96.6
2|7 A U AR 327,200  93.4|# A 109,255 117.0|7 * U & & % 244,324  94.4
3 |# A 160,004  112. 4|8 89,485 95 1|4 — %X k~ T U T 77,137 96.6
4 |5k 148,759  100.9|7 A U h & & 82,877  90.6|% A v 62,220 119.4
5 |& % 106,794  92.8|& by 75,048  88.2|dk 59,275 111.1
6 |4 — =2+ F7 U 7 95,113 95.3|# * D = 52,253  95.3|% A 50,749  103.7
7 A * D2 = 88,766 91.7|~ L — ¥ 7T 49,114 108. 3|+ * D2 = 36,513  87.1
8 l= v — v 7 65,031 106.8|7 7 7 B £ [H # # 36,354  104.2|& i 31,747  105.7
9 (& A v 62,596 113.4|fg 7 7 U & It 35,267  102.3|4 ¥ K % ¥ 7 23,863  100.8
w4 v K x ¥ 7 58,214 102.1|4 > K * ¥ 7 34,350  103.0|F j 22,520  53.7
11 R k A N 53,660  97.7[~ k VA 2 32,363  93.4[~ k > UN 21,297  105.1
12 |F j 48,275  91.1|7 4 U ¥ v 26,475  109. 4|7 Z v v 16,600  109. 2
BT 7V 3R 41,644  100.0|F ) 25,7565 233.7l= L — v 7 15,917  102.7
“Uil7 7 7 H K H# 39,126 102.6|> > A K — 21,639  101.7| F 4 b4 13,505 116.5
5|7 4 U ¥ v 38,835  110.0 - 2 7 U7 17,976  90.2|7 7 D v 13,436  85.6
6> » H K — 33,478  98.3|m D 7 17,286 150.1|7 4 U v v 12,360 111.3
17 |4 7 v v 27,145 99.7|% X R Z v 15,605 102.7|> >~ A &K — n 11,839  92.7
18 |m D 7 24,804  155.9|A v N 12,195 101.5|7 7 v 2 10,432 80.5
19 |« v N 20,770 104. 4| x j 2 12,051  82.2|A 74 ) 7 10,114  116.9
20 |7 Z v v 20,014  80.9|/% VA ~ 10,725  64.7|7 4 ¥ T v K 9,675 131.0
21 |A X ) 2 19,249  98.8|#4 7 v 4 10,545  87.6| Nz X — 9,217 115.3
22 | K A b4 17,925 93.3|=2= w ¥ v 7T 10,289  93.4|A1 v N 8,575  108.8
PRI AT S S 15,941  103.4|= D 7 k 9,420 151.0|&m D 7 7,518  170.9
24 |~ v X — 14,647 107.3|2 ¥ » < @ — 8,911 221.3|4 X ) 2 7,198 149.2
25 |A 4 ) 7 14,510  105.3|7 7 D g 6,578  72.8|M 7 7 U 4 3L A0 6,377  88.8
26 |/% A < 12,566  52.5|!—m 7 T K 5,885  49.0|A ~ A v 6,082 122.4
27 |7 Z v 2 12,481  80.3|A 7 g 5,714  48.6|%7 v @~ — 7 5,647  86.7
22 v v v 7 12,443  85.1|% v ¥ 7 Z v T 5,626 10l.1|A © = — F v 5,335  102.1
29 |= D 7 b 10,591  147.3[~ v X — 5,430  96.0|2 w©w @~ = 7 3,602  262.5
307 4 v T v K 10,366  134.9|4 = 7 4,781  99.6|= = — ¥ — F » F 3,594  76.2
3| v v v = 10,094  196.0| k v = 4,680  82.3|~% v — 3,150  46.6
32 [ A ~ 4 N 10,014  90.4|X % X = J 4,591 8|7 T 7 H EEEA 2,772 85.6
33 |~ v — 7,407  69.2| F A D4 4,420 8.0l U Z v 7 2,704  117.1
M |l= v T K N 6,965  51.3|1 v ] 7 4,396  85.8| — = = T 2,661  75.0
B l= 22—y —3F K 6,635  81.0|~2 v — 4,257 107.9|1=2 ©w » v 7 2,154  59.6
36 | k v o 6,615  91.54 — A 3,967 122.0|2 T T 7 2,001 107.3
R/ S S 6,283  99.0[% ~ A v 3,932 64.3|7 A ¥ o F v 1,978  111.8
38 |A 7 v 5,912 48.3|H » &KX ¥ T 3,847  104.5| k v = 1,935 125.5
9 |F v o= = 7 5,741  85.3|2 v D2 7 3,496  116.2|% VA ~ 1,841  25.1
02 v = — F v 5,708 102.3|= = — ¥ — F » R 3,041  87.5|K — F v K 1,826  102.8
41 120 5 v A 5,591  98.6|4% A K H 2,916 87.1|4 A I = 1,341 118.6
421 2 X = I 4,915 7612 U Z v A 2,887  85.9|% A N A 1,253  216.8
43 |4 = 7 4,911  99.5|F o v e 2,848 161.8|, A U = — 1,212 54.8
44 |7 — 7+ 4,867 1158/ ¥ » v — 7 2,508  92.7|12 ¥ v = — 1,183  105.2
45\ v R YT 4,520 110. 1|+ A4 ¥ = U 7 2,146 96.2|= D 7 b 1,171 123.0
46|12 v <N = 7 4,182  245.0|7 Z v 2 2,049  79.3|1= s 7 F 1,080  68.9
VYA B Y P N s A 2 4,169 106.2[% v 7 5 F v 2 2,023 101.3|5 k = 7 920  156.2
8\ 7T T o~ T 3,807 110.7|1% » ¥ = 7T 1,894 107.9|% v 7 5 F v 2 903  128.4
49 |7 v ¥ 7 3,517 116.5|€ — VU ¥ ¥ R 1,879  149.2|#4 — va 900  94.5
50 [ ¥ v v — 2 3,106 882|127 7 F <= T 1,806 114.8|7 A4 L F v K 817  103.3
* %) fih, 59,278  92.9|% %) i, 29,726  89.8|% ) fih, 12,155  73.4

_22_



